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27>6—>3—>1—>5—>8—>4—>9->12>10~> 1> ¢4,C10
¢ C2 €1 C3 Cr C3 Cg Ci2 C9 C11

A knot diagranﬂ

Ideals for irreducible componentfbf Xpar

I =W +u* 4 2u—1)

* 1 irreducible components of dim¢ = 0, with total 47 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LIY=(u'"4+u®+- .- +2u—1)

(i) Arc colorings

w- (1)

1
a7 = 0
1
ag = U2
u
a3 = \uyd+u
ud
a1 = \uP+ud+u
uw?+1
a5: u2
ut+u+1
a8: u4
—ull — 249 — 44" — 4u® — 33
g = \ —yMt —? — 20" — WS +ud+u
u'? +ut0 + 308 4 208 + 2ut +u? + 1
ag = \ M+ 242 + 5u!0 + 6ud + 6ul + 4ut 4+ u?
u?t +2ut® - 4ud
a1o = u23+3u21+.,_+2u3+u
w3 +3u® + -+ 202 + 1
a10 = \u3? + 4430 4 ... 4 8ut 4 202

P + 4w + -+ 8ud + 2u
ann =\ u*t +5u3 + -+ 4ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*0 — 20u** + ... + 20u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs5,C7 w4110+ 160 — 1
C2,Ce utT =t 2u 1
€3 ul” — w4 ... — 6060u + 3361
C4, C10 ult" — w4 4 2ut1
€8, C9,C11 W0t 42 11
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,C7 y47+51y46+--~+32y—1
¢, Cg v T 11y o 16y7 — 1
cC 47 46
3 ¥y 4+ 31y™ 4+ .- + 5775512y — 11296321
C4,C10 y47—9y46+-~-—4y2—1
C8;C9, C11 v T B9 8y — 1
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= 0.382879 + 0.9132061

—0.08570 + 6.281481

—8.16298 — 10.471001

0.382879 — 0.9132061

—0.08570 — 6.281481

—8.16298 + 10.471001

0.008475 + 0.9653011

6.38651 — 3.252801

—8.46380 + 2.374011

0.008475 — 0.9653011

6.38651 + 3.252801

—8.46380 — 2.374011

= —0.413985 + 0.8534291 0.89586 — 2.033831 —4.23793 + 3.818181
= —0.413985 — 0.8534291 0.89586 + 2.033831 —4.23793 — 3.818181
= —0.456667 + 0.9563331 9.00501 — 2.085901 —4.31423 + 3.310961
= —0.456667 — 0.9563331 9.00501 + 2.085901 —4.31423 — 3.310961
= 0.446885 + 0.9629131 8.85349 + 8.668491 —4.72563 — 8.038311

= 0.446885 — 0.9629131

8.85349 — 8.668491

—4.72563 + 8.038311

= 0.276872 + 0.8731661

3.20238 + 2.304521

—16.3116 — 5.94701

0.276872 — 0.8731661

—3.20238 — 2.304521

—16.3116 + 5.94701

0.112869 + 0.8507031

—1.52782 — 1.568031

—12.46880 + 3.577031

= 0.112869 — 0.8507031

1.52782 4 1.568031

—12.46880 — 3.577031

—0.820103 + 0.8729461

3.33252 — 0.637981

—8.00000 — 1.610551

—0.820103 — 0.8729461

3.33252 + 0.637981

—8.00000 + 1.610551

—0.866477 + 0.8524511

7.76984 + 3.473551

—2.51866 — 3.959611

= —0.866477 — 0.8524511

7.76984 — 3.473551

—2.51866 + 3.959611

—0.808162 + 0.9225281

3.18030 — 5.454371

—8.00000 + 6.667481

—0.808162 — 0.9225281

3.18030 + 5.454371

—8.00000 — 6.667481

= —0.680659 + 0.3615011

10.90210 — 2.073621

0.04088 + 2.303911

—0.680659 — 0.3615011

10.90210 + 2.073621

0.04088 — 2.303911

= 0.867742 + 0.8719911 8.77828 4+ 1.401741 0. —2.331061
= 0.867742 — 0.8719911 8.77828 — 1.401741 0.+ 2.331061
= 0.835618 4+ 0.9048871 6.11156 + 3.112671 0. —2.669281
= 0.835618 — 0.9048871 6.11156 — 3.112671 0.+ 2.669281

0.681301 + 0.3445711

10.82780 — 4.547661

—0.10220 + 2.489771

0.681301 — 0.3445711

10.82780 + 4.547661

—0.10220 — 2.489771

—0.284938 4- 0.7077171

—0.343803 — 1.1995801

—4.23003 + 5.537291

u
u
u
u
u
u
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u
u
u
u
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u
u
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u
u
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u
u
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u
u

—0.284938 — 0.7077171

—0.343803 + 1.1995801

—4.23003 — 5.537291




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.900013 4 0.8513671

17.6045 + 6.01181

0. —2.534761

u = —0.900013 — 0.8513671

17.6045 — 6.01187

0.4 2.534761

u=0.900037 + 0.855771I

17.8006 + 0.69181

0. —2.075211

u = 0.900037 — 0.8557711

17.8006 — 0.69181

0.4 2.075211

u = 0.838574 + 0.9460101

8.54527 + 4.930071

0

u = 0.838574 — 0.9460107

8.54527 — 4.930071

0

u = —0.826944 4 0.9569941

7.44238 — 9.762561

0.+ 8.961061

u = —0.826944 — 0.9569941

7.44238 +9.762561

0. —8.961061

u = —0.844018 4- 0.9771451

17.2039 — 12.45861

—8.00000 + 7.312641

u = —0.844018 — 0.9771451

17.2039 + 12.45861

—8.00000 — 7.312641

u = 0.846803 4 0.9748251

17.4212 + 5.76461

0

u = 0.846803 — 0.9748251

17.4212 — 5.76461

0

u = —0.522799 + 0.4180581

2.21181 — 1.529031

—0.12044 + 3.941431

u = —0.522799 — 0.4180581

2.21181 + 1.529031

—0.12044 — 3.941431

u = 0.542166 4 0.2915491

1.78563 — 2.822331

—1.69698 + 4.517061

u = 0.542166 — 0.2915491

1.78563 + 2.822331

—1.69698 — 4.517061

u=0.369088

—1.03563

—9.31600




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C5,C7 ufT 11 4 160 — 1
Ca, Co u T 2ut1
€3 u” —ut® 4. — 6060u + 3361
C4,C10 w421
€8, C9, C11 L YL R F |
C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs5,C7 v T 51y 432y — 1
C2, Cg T 11y 162 — 1
€3 v + 31y + ... 4+ 5775512y — 11296321
€4, C10 y T =9yt — 4y 1
€8, C9, C11 T 590 . 8y — 1
C12




